Arithmetic – Please do all your working out in you book. 
1) 726 ÷ 6
2) 3 - 12
3) 91 = ____ x 7
4) 263 ÷ 100
5) 26.8 + 1.002
6) 40 x 300 
7) 2,407,562 – 10,000
8) 1,000 x 30.7
9) 7,700  ÷ 11
10) 24.325 – 9.63
11) 10,000,000 - 101
12)  
13) 82 + 17
14)  x 3
15)  of 240
16) 2.56 x 7
17) 456 ÷ 19
18) 30% of 3200
19) 46 x 23
20) ¾ ÷ 3
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A train starts running from Leeds to York at 7am.
The last train leaves at midnight.

Platform | has a train leaving from it every |2 minutes.
Platform 2 has one leaving from it every 5 minutes.

How many times in the day would there be a train
leaving from both platforms at the same time?
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Use the clues to work out the number.

* It is greater than 10

It is an odd number
* Itis not a prime number

¢ Itis less than 25

It is a factor of 60
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